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Offset quarter note triplets on the snare:

written here as a "middle" eighth-note triplet and two swing eighth-notes

3 3 3 3

Jacob Wendt

Elvin Jones' polyrhythmic pulse

with "Syncopation" melodies on the ride

/

Add the Jazz Ride pattern with 2 & 4 on the Hi Hat

(also try feathering the bass drum on all 4 beats)

3 3 3 3

/

Bass Drum plays a doted-quarter note pulse;

Notated here with eighth-notes.  (It takes 3 bars to line up)

3 3 3 33 3

/

Play the four-bar melodies from Ted Reed's "Syncopation" book on the ride cymbal

‰
œ

J

‰
œ œ

‰
œ

J

‰
œ œ

‰
œ

J

‰
œ œ

‰
œ

J

‰
œ œ

¿

œ
‰

¿

œ

¿

œ

¿ ¿

œ
‰

¿

œ

¿

œ

¿ ¿

œ
‰

¿

œ

¿

œ

¿ ¿

œ
‰

¿

œ

¿

œ

¿

œ

¿

œ
‰

¿

œ

¿

œ

œ

¿ ¿

œ
‰

¿

œ

œ

¿

œ

¿ ¿

œ

œ

¿

œ

¿

œ

¿

œ

¿

œ
‰

¿

œ

¿

œ

œ

¿ ¿

œ
‰

¿

œ

œ

¿

œ

¿ ¿

œ

œ

¿

œ

¿

œ

¿

¿

j

¿ ¿

j

¿ ¿ ¿ ¿

‰

¿ ¿

j

¿ ¿ ¿

j

¿ ¿

j

¿

j

¿ ¿

j

¿

Œ



°

¢

™

™
Dr.

Dr.

ü

†

™

™
Dr.

°

¢

™

™

ü

†

™

™
Dr.

°

¢

™

™

ü

†

™

™
Dr.

°

¢

™

™

ü

†

™

™
Dr.

/

12 bars fulled notated:  

(doted-quarter pulse = 3-bar phrases, Melodies = 4-bar phrases)

so it takes 12-bars (or 3 times through each melody) to line up.

**Goal is to play the doted-quarter pulse backdrop continously : play each melody straight through
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